Solution for assignment 27a and 27b.

The orbit is given by
p=r(l+ecosb)

where

2p is called the latus rectum, and e eccentricity. Their definitions involve the reduced
mass [, the coupling strength «, the center of mass energy E and the magnitude of
the angular momentum L:

v

p=——"-—, a=Gmma, E:T—l-U(r), L=|L| with L=u7xd

with v = |7, ¥ = ¥} — ¢&. Once r, p and e are calculated, we can solve for 6:

1—9—126608(9) = 0 =4cos ! <p—r>

r er

with —m < 6 < 7 where the sign is that of 7y - . Numerical values are in the
Kparameters.txt file.



